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Answer ALL Questions

1.

Integrate following functions.

dx+1 1 |
, ., -l
(z) J.-—~—dx3x2 — (n) J.—m{bc3+cosx (m) Ixtan xcx

(i) Proved by Indirection 14+2+2%4+2%+.cce. 421 =271

(it} Prove that (Zr + 1)3 - (21' - 1)3 =241 +2.

I ‘ 1
Hence prove that » r* = nFn +1)6(2H+ ) .
r=1

(iii)Find sum of following series.
] 1

; r(r' +1)(r+2) '
(i) Using the substituting x+1 =% Integrate following functions.

I—[—dx

(x+1)V1-x*

(i) I\/ a® —x* dx usinfthe substituting x=asin .
]

(iii)Let f(r)= —12-, find the value of f(r}— f(r+1).
-

Hence find sum to infinity of the series.

3 + 5 4 7 N
12.22 22_32 32.42

[s this series convergent? Justfly your answer.
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Budd® yamndEd B8Oy eewmsim.

0L oo ocnsl o amEme O,

. 4x+1 .. 1
(i) fm dx (id) f3+msx dx

(iii) [xtan1(x) dx

02. (i) oo goyome vIBnens’

142422423 ....4271 =271 58 endmo mdsim.
(i) 2r+ 13— 2r—13 =2471%2 + 2 90 eudms 2ossm.
@3
4]
y 2 = w 80 eusiosin.
Y=1
r 1
'J'Z' r(r+1)(r+2) cpeacszﬂzn.

03. (@) x+1= % gedeens’

i
I@cm—lm dx EPGJCBZJ‘J’E.

(i) x = asinf gedacwss fﬂa\/az — x%2 dx goozi.

(i) fO@)=5 2@ f)- fr+1) gossn.
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Qeiieuhld enijsmend QAamamalif .

() Jpm—a @)

J'3+c (1) [xtan™ xdx
7 osx

() 1424274 2° 4o 42 =27 -] GTdIDS OHIGHSPR WP
unelbg Hipieyes.

(i) (2r+1) —(2r-1)° =24/ +2 qan Ppeys.

9 n 2:n(n+l)(.’2n-f-1)
BPemha! ;r <

6760 Himie .

r=1

(111)2’ (’ +1) (1 +2) STEOTEID QBT AT .l DEASTenEmLds bl e,

(i) x+1= l sTaitgd yi a0 Lneldg),

1
dx @ QETaaEuld .
J(A+I)V
(ii) j\/az—xz dx, @Dg x=asing srdnggid TSI i) el
0

(i) £(r) =‘1T T, f(r)—f(r+1) @ QupITEIEmESE Graie.
-

3 5 7
11_22 +22‘32 +32.42

NP —> o0 ETATE@ID QHTL e (pie alad

LIS ExGHLOM 60T @_g;uuqfﬁaamﬂsm L DS ST NENIE ST,
b AT @MBGESILIT? 2108 el MULILGG &léb.



